BIERR—YDF%(50m) BREFEER

AMT—)L

il
o
Er




JIL—T5F JIL—TRIF
A% ZF A A% BF xF A
NSIE 0 3 3
NSIE i 3 5 8
NSIFERE 3 3 6
NSIALL 2 2 4
NSI{HEZ 1 3 4
NSI 9 14 23
NSI## % 3 2 5
HEZESS 6 6 12
NSIZ[H 3 0 3
NSLE% 2 1 3
NSIFiE 3 0 3
NSIEHHL 1 1 2
IERRRR—Y 6 2 8 A=) 7 9 16
Fa i R it 1 0 1 1r=RME 14 24 38
T ZAK N 3 0 3 1RUAE 4 8 12
{EFSs 2 0 2 1LV =H 3 6 9
S-I\T17% 5 5 10 A2 P 12 12 24
BIGIEE 1 2 3 (VB E 11
KTVEK 1 0 1
IEEESS 0 2 2
STHEE 2 0 2
BIgmRARIE 1 1 2
GUNZE 2 0 2
s—cube EE} 0 1 1
=fFC 2 2 4 JFSEMNG 3
PSK 3 0 3 OFSHEE 20 21 41
REBSC 2 1 3 a3 SEBRA 7 5 12
ZEOSS 21 17 38 333=H 5 6 11
<yIRE 2 2 4
~yomalll 3 4 7
JSS=XK 5 2 7
JSSEIF 8 2 10
JSS/IIFE 1 1 2
JSSEE 2 3 5
JSSAAR 6 7 13
JSSHIERE 1 0 1
JSSit#E 5 1 6
TXEmIWLF 0 1 1
TXERR 1 1 2
TXBII 1 1 2
VY VAP 4 8 12
0 2 2

BN ]




